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QUESTION 1

An architect is completing the physical design for a vRealize Operation (vVROps) solution for a customer. The customer
has only provided the following information for their existing environment:

500 Virtual Machines 2 VMware vCenter Servers 10 VMware vSphere Horsts 20 Datastores Live data should be stored
within the vROps solution for 6 months The RTO for all existing management components is 4 hours The RTO for all
existing management components is 1 hour

Which two assumptions could the architect make when sizing the vROps cluster? (Choose two.)

A. The vROps cluster will be configured as High Availability.

B. The RTO of the vROps solution will be 4 hours.

C. The resource profile of a virtual machine will be, on average, 1 vCPU and 2 GB RAM.

D. The minimum data retention within vRealize Operations Cluster will be 12 months.

E. The RPO of the vROps solution will be 1 hour.

Correct Answer: AB

QUESTION 2

A customer wants to implement vRealize Suite Lifecycle Manager (VRSLCM) as a part of a new SDDC
deployment.

The customer has two physical data centers and number of branch offices.

The customer has recently purchased Hyper-converged Infrastructure (HCI) hardware that has to be
implemented and configured.

The customer has a target availability Service Level Agreement (SLA) of 99.99%, measured quarterly, for
the management components.

Which recommendation should the architect make to achieve the requirements?

A. Deploy a 3-node VRSLCM cluster on a vVSAN stretched cluster

B. Deploy a VRSLCM appliance in one DC and replicate it to the second DC

C. Deploy a VRSLCM appliance on a vSAN stretched cluster

D. Deploy a VRSLCM appliance on a vSAN cluster

Correct Answer: D
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QUESTION 3

An architect is responsible for designing a new Operations Management solution for a customer. The
customer has provided the following information about their existing VMware Software Defined Data
Center (SDDC) environment:

The customer uses a SaaS-Based Service Desk solution.

The existing environment is located across two geographical regions.

In each region, the customer already has deployed a vSphere-based virtual environment that spans two
well connected physical locations.

The customer has recently upgraded all of their licenses to VMware vCloud Suite Advanced subscription.
The customer has already successfully deployed and configured a vRealize Operations 8 solution in each
region.

The customer would like to ensure that:

All vSphere log events must be captured, stored locally and forwarded to a third-party log management
solution to ensure regulatory compliance.

Specific vSphere log event\\'s can be captured within a region, monitored and then trigger alerts direct to the
Service Desk which can then be assigned to regional support teams.

Operations monitoring for all of the VMware SDDC solution can be consolidated into a single user
interface.

Which three recommendations should the architect make to meet the requirements? (Choose three.)

A. Configure vRealize Operations 8.x and vRealize Log Insight 8.x integration.

B. Configure vRealize Operations 8.x and vRealize Log Insight Cloud integration.

C. Deploy vRealize Operations Cloud and configure Federated Analytics.

D. Deploy vRealize Log Insight 8.x and configure the vSphere integration.

E. Deploy vRealize Log Insight Cloud and configure the vSphere integration.

F. Deploy vRealize Operations Cloud and vRealize Log Insight 8.x integration.

Correct Answer: BDE

QUESTION 4

A customer is deploying vRealize Log Insight (vRLI) in their data centers. The customer has the following:
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Three data centers in three geographical locations.

Each site has 1000 logging sources that send events to VRLI.

The customer has the following requirements:

Minimize the resources footprint in the management cluster where vRLI will be deployed.
VRLI must be highly available with no single points of failure.

Logs collected from any data center must be protected against site failure.

Which three design decisions would the architect choose to achieve the requirements? (Choose three.)
A. Configure logs forwarding from all data centers to a specific data center.

B. Configure filters to eliminate forwarding loops between vRLI clusters.

C. Configure logs forwarding from each data center to another one.

D. Deploy nine vRLI "Medium" nodes in a single cluster in each data center.

E. Configure filters to forward critical logs to central vRLI cluster.

F. Deploy four vRLI "Large" nodes in a single cluster in each data center.

Correct Answer: ADE

QUESTION 5

A customer has asked to have a vSphere cluster and Cloud Zone dedicated for Cloud Template development. The
customer is going use the Cloud.vSphere.Machine compute resource type and they have been unable to quantify
values for Favor Mappings during a requirements gathering exercise.

Which Flavor Mapping decision should be made for the Cloud Zone?

A. Create multiple Flavor Mappings with incremental sizes

B. Flavor Mappings are not needed for the vSphere Cloud Zone

C. Create a single Flavor Mapping with a modest size

D. Create a single Flavor Mapping with the maximum size supported by vSphere

Correct Answer: A
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